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UNIT 1

®|¥EEKXK
Text AR, RNk BORRIETE, BB EAN
T, AT R LR KNk,
#£4g. equal; neither ... nor; there be...;

do (something) with(something)

w.S. s 1) Azhid do 2) like+to V
3) like+V-ing  4) like fE4rid
5) Wi[h iﬁ;“m”

5.5, IE= M A, REIER S P IX R AT HJE 5o
Int. SE IR N A, JHER LB
L.C BTk R, BB A EBEINE.

ROM.(A) | ESRFESCRENE, B HE % -, £ S0,

W.S. — Word Study

S.S.  — Structure Study '
Int. — Review of Intonation
L.C. — Listening'Comprchension

R.M. — Reading Material

HERAR

Text
1. For example, students can do their mathematics with

a computer,



1) do {E“% 31", #24°T study, learn, ERT AIE, H:
I'll do my lessons tonight.
Are you doing physics at school?
2) mathematics =] F{ER B8 ¥, i
His mathematics is (8 are) not so good.
. The computer writes questions on the screens in
front of the students, and the students answer on
their keyboards.
1) screens: ;X BAS R, Za—aHENTLEEREETA
R,
2) in front of & in the front of My[X 5l:
in front of F;R“fE...HH",in the front of
ORI~ B, BIEWAKS], Fl:
There is a screen in front of each student.
AR EA - B,
Some students like to sit in the front of the
classroom.
A oo TR AR Z s AT HEGL L
. This is part of a lesson with a girl.
part of & a part of X 5i:
AEAEEBLRARE B, part of WLLE—YLLE, ®F7]
PLE—HLLT; a part of AEERF—ELAT,
(a) part of JETE A AR KR INELIER, HIE3DIE
fEf LB EE 2, Hi:
(A) part of the work is done.
(A) part of them are good.
(writing on screen), (pressing buttons),(after think-

ing) SRR THIH B R XE M



V-ing B3R, TLAGIEARIE,

. Helld!

Hello [%£73; Hullo [3]
. (Two z plus four y equals eight.)
1) Two z plus four y 2—ARERX, fEh—484, A
WIEIE SRR,
2) equal: R zhia, heI1EB A1, Bi:
Two z plus four y equals eight.
Two z plus four y is equal to eight.
. (Two z minus four y equals nought.)
nought [3%]; zero [%#] RHEAP LEMAHRT R
Hid; oh FR“F"MIRF,
. The computer can give Mary the right lesson for
her, neither too fast, nor too slow.
1) give lessons (% a lesson) F/R“¥EZIR”;give lessons
(R a lesson) in FR“FE...i1", B
John gives us lessons in mathematics.
Mr Wang is giving students a lesson in physics.
2) the right lesson for her WLAMf®% the lesson
right for her,
3) neither ..., nor ... 3;%W3%id, neither too fast, nor
too slow FF—HiBH right BN,
. And the computer can do this with many students
at the same time.
1) A4ayBfE 4. And the computer can give tne
right 1lessons to many students at the same
time.

2) at ... time ZFEACLATEAI, RIA%, #R L

e 3 o



wRiE A, il
at any time JiBfait, Bk
at that time 7EARRS
at the right time {E3& %
at one time %:£3 DL#iAH 4~
10. Students can also learn a foreign language with a
computer,

learn 5 study X %

1) learn FoR“%, %30, %587, EHAELFIRE,
BUM 238 rh & SR R A 13, Bl

He learns very quickly.
He is learning English at a language school,
Have you learnt your lessons?

2) study FoR“F, #3, PR, ~BELREARS
#£ACEAMBEERRE, TA), AR B AR
15, Bl

John studies very hard,
They studied English at middle school.
We are going to study this problem in detail.

3) learn JGAPR to V. & V-ing, Fom “FIEME AR
H5?, T study JERIAATE to V K V-ing, B

The boy will soon learn to swim.
. We are going to learn swimming.

4) FoaR“p--E 3 )" H, EM“learn (...) from”, i

A study, Bl
He is learning English from an English teacher.
We should learn from Lei Feng.



~S.S.

like XREH B4R, IFEM o V 5 V-ing SBFLL,
He likes to swim.
He likes swimming.

like FoR—Bt B AF I, FLATER to V, RAPR V-ing, fi:

I should like to talk with you now.

St IR AT, ER 2D —, {£ Randolph Quirk
2 ANty A Grammar of Contemporary E’ngligh —
Frh, F A 7 ;£ Applied Linguistics: Principles and
Technigues — 5vh, Shirley L. Stryker F gk 10 fb3k
Aa)8; Wi D.Waldo Clarke 2 ¥ 9 The Ground
Work of English Sentence Structure —, F2% T 5
Friamid, MEREIR TR G5 8% 1k bR il i
%, BAIERE 5 Rk A L, B

1) SV 2) SvVC 2} SVO

4) SV0,0, 5) SVOC

- PUH AR RBR R A, #H EIEMIBE, OBy %k

A ERRFEATN V, SR ETEIEEDEH LR L
AR A Ehialiy ) BIAT 2 f. SV, SVC; Rdpahialiyt) il
£ 3 f:. SVO, SVO,;04 SVOC,
R, Adverbial Modifiers 4, A 524 204
wlJCH, T A w1, il

The book is on the table.

He has put the book on the table.

4] 1 on the table BARERIE, BARTBRA. Hik,
[} 5 .



Quirk FA&&ZM <HRIVFiEH> —A3h, FIf7 SVA
1 SVOA @A, AfNEFLRME, Rintans.
4. —BEEELER SVC gRb N V HRAER ALK,
CHAXIE. FBPHRV A iHIE, CHIEE bLutk
%, f1 SVOC w1y C #5k—1% EF C LB REIEE
REERE, RBREOTFRAE,
Int.

ZE—A0F RN, § TR ERIEE4 317, 1
AR BBE, RJGA RIS HRIS. BT, UG EL SIS A HE ]
BRI, B G il o i) B3 AR D Ao B 0T, (BB Ik R B
iR,

L.C.

(TheA listening passage)

Mary Is Wrong

Mary is doing her mathematics with a computer. The
computer gives Mary this problem: ‘
Three z plus three y equals nine.
Three £ minus threé y equals three.
After thinking, Mary answers on the keyboard:
x equals one
y equals three.
The computer teacher then says: “No. Try again.”

R. M.
(A)

1. Today machines can play chess and do mathematical

6 .



problems. ‘
do 4824 F solve (35 X, ¥ H T Hif+h, HmiEH A solve
problems.
2. In most cases, they are just metal or plastic boxes.
1) in ... case(s) ZFLAMAE AR, RiA%E, AR
fth 6 AR, Bl
in any case TEAEAIERT
in that case EIBRpERT -
in the given case {E# EH’J‘F‘R‘F
2) just #X4T only,
3) plastic 5 plastics X i
a) plastic: Y & iR, FR “WE" GRERD, fEEE
i i, s “BBRIE7,
b) plastics; fial, 7R “HEHET, BB, 5%
, fE“wEl GREFD M X plastics FfELIEN, 1B
VERE S Jeahia; BAEBRE E, BiEE
o H B B A, |
This aeroplane engine was made mostly of
plastics.
Plastics are man-made materials,
Plastics is a branch of science.
% plastic AMEAHEIEH, Lmaﬁm My, 0
A A A, Bl

The first man-made plastic was made over
one hundred years ago.
Plastic of the first type are hard.
3. They have two windows and a few knrobs or push-
buttorns here and there.



1) knobs f5HEM, B ¥ AN, € F AT HENeE, Gl
Turn the knob, please.
2) pushbutton ${i%Hl, FTLARFIER, WATLLEHALE
R, E R F KD, fl
Press that pushbutton, please.
. You préss a button and the first question will
appear in one of the windows.
You press the button again and you will get the
correct answer.
X RA)T- AL B AR O
If you press a button, the first question will appear
in one of the windows.
If you press the button ' again, you will get the
correct answer.
. You can see the computer’s answer and your own
answer at the same time.
own i % F{EA 3 A s |, nssis s, Gl
I saw it- with my own eyes.
When the second question appears, your answer to
the first question goes out of sight.
1) answer &8, Fomnt - RO &7 I, JE I 2K
Jrid to, il
Your answer to the question is wrong.
Have you had an answer to the letter? '
2) out of B Arid, EXE “in, into” A, §i:
He walked out of the room, =
He walked into the room.

Fish live in water.



Fish cannot live out of water.

(B)

The computers have all the information about traf-
fic, etc. '
information 3§ A HE %, T 8717 about,on, {7
Can you give any information on (& about) this
subject?
If a policeman finds a car in the counfry and there
is nobody in it or near it, a computer can help him.
the country, Mi¥ 4 i country fuiEifid the & H, L5
“AUebb. ZHE7, YT the countryside, /-
They like to live in cities, but I like to live in
the country.
Yes, somebody many miles away lost it two wecks
ago.
somebody [H1* ai#if R HIBEIER, e T some
body.
In the future we are going to use computers for
almost everything almost every day.
every day 5 everyday ny[x i
every day SHTlTPEIAAL, 2730 — K everyday " gy
W, AOR“LE T, L BT, 6
We study English every day.
We are going to learn everyday Engiizh.
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